
7325-10
Inner Race
Adapter

7325-16
Ford Axle

Installer 1-3/4

HPA-1
7325-8

Adapter Small

7325-2
7/8" Main Screw

H-1
7326-4

Hub Installer

7325-17
7/8"  Nut

7326-11
3/4" Nut

HPA-2
7325-9

Adapter Large

7325-28
Large Washer

7325-14
Small 7/8"
Nut

7326-10
Thrust Bearing

7326-12
3/4  " Main Screw

7325-11A
Knob & Stud
Assembly*
(Includes 1 each: 
Knob, 7325-15A 
Stud, Small Washer)

7325-43 Complete Part

7325-20
Center Screw

7325-19 
Center Pin

7325-18
Jaws

7325-21
Swivel Assembly
(Swivel & “O” Ring)

7325-5B Jaw

7325-1 Body

KEN-TOOL  •  768 E. North Street, Akron, OH 44305
Toll Free: 888-536-8665  •  Fax: 800-872-4929  •  Phone: 330-535-7177  •  Fax: 330-535-1345

E-mail: sales@kentool.com  •  www.kentool.com
© 2010 Ken-Tool

KTHSPL0510

PRO SUPER HUB-SHARKTM PARTS LIST

H

H

H H

HNEW COMPONENT *7325-15A Stud is 1/2" diameter.

No. 7326 

®



R-1
7325-23

CHRYSLER

FORD

FORD
SPECIAL

(EXPLORER)

HONDA

HONDA
SPECIAL

VOLKSWAGEN

MEDIUM
BEARINGS

SLEEVE ADAPTER INSTALLER REMOVER

** Replaces A-1 and A-4 adapters.
HNEW COMPONENT - Part Numbers with 7326 are new and additions to the original 7325 Hub-Shark set.

S-1
7325-24

S-2
7325-31

S-3
7325-35

S-5
7326-7

S-6
7326-8

S-4
7325-39

C-1**
7326-2

IN-1
7325-25

H

H

H

S-7
7326-9

IN-7
7326-6

H

SELECT
BEST

REMOVER

C-2
ADAPTER
(SEE ABOVE)

R-2
7325-32

R-3
7325-37

SELECT
BEST

REMOVER

R-4
7325-40

A-2
7325-30

C-2
7326-3

A-3
7325-34

A-5
7326-1

IN-2
7325-33

IN-3
7325-36

IN-6
7326-5

SELECT
BEST

REMOVER

IN-4
7325-41

SELECT
BEST

COMPONENT

C-1**
ADAPTER
(SEE ABOVE)

HH

H

H


